= A
N = 0] &F AF S & AN A
2022 = 20l A LEHSH S XIAFE I
EX: XA I}
¥ Lol=x B
Sl T ol MEOHE X & CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
=N\ 180, 189,993 178,494,679 1,695,314
= 133,981,345
Jl 11,340
Al H] 38,643,192
Tl 7,554,116
Logx &8 159, 163,259 158,018,935 1,144,324
= 122,503,116
Al H] 29,848,478
24| 6,811,665
THOIEQl MEOHY X & 150,933,489 150,043,593 889,896
= 119,718,290
Al Hl 25,372,971
=1 5,842,228
=32 X2 145,980,717 145,980,717 0
= 116,784,574
Al HI 23,356,915
-] 5,839,228
301 et M= 145,980,717 145,980,717 0
= 116,784,574
Al Hl 23,356,915
24| 5,839,228
01 Al E& A 252 145,980,717 145,980,717 0
OJl=d=2 145,980,717,000& 145,980,717
= 116,784,574
Al H] 23,356,915
I 5,839,228
A R g4 247,958 247,958 0
Al H] 247,958
307 2iz2to| & 247,958 247,958 0
Al H] 247,958
05 QIZ2tRE 2 247,958 247,958 0
OdzAald 224l 247,958,000 247,958
Al HI 247,958
MAE I QLA A E 200,562 200,562 0
Al H] 200,562
307 giztol A 200,562 200,562 0
Al HI 200,562
05 QIZtREZ 200,562 200,562 0
OMAS THIHECl AAIHE 200,562,000 200,562
Al H] 200,562
L OolE L OIAICH X & 284,900 284,900 0
AlH] 284,900
301 et M= 284,900 284,900 0
Al HI 284,900
01 Al E& A 263 284,900 284,900 0




N SXAE D

¥ Lol=x B
SRl TP Ol MEBOIE X CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SOIE LA XA 284,900, 000& 284,900
Al 284,900
LolgtsssAtl s N 4,130,760 3,266,340 864,420
= 2,889,420
Al 1,238,340
1 Hl 3,000
201 2et24E] 3,000 0 3,000
01 At 22l 3,000 0 3,000
O'oZ2d N 20" SSH2 4L SHdt=
AsZz 0™ 3,000,000& 3,000
307 glz2tol & 4,127,760 3,266,340 861,420
= 2,889,420
AlHI 1,238,340
11T MISAASEX 4,127,760 3,266,340 861,420
Ookelsts=sAMblA X& 4,127,760,000& 4,127,760
= 2,889,420
AlHI 1,238,340
SNk - SZHMY SsAd A HHIA 88,592 63,116 25,476
= 44,296
Al 44,296
307 21201 A 88,592 63,116 25,476
= 44,296
Al 44,296
05 BIZHRIE 3 88,592 63,116 25,476
O=ENLe - ZSSZMHY SSHT A MEH A
88,592,000 88,592
= 44,296
AlH 44,296
colgiiel #3 ¥ Hotgs XN 4,738,992 4,714,629 24,363
= 1,751,400
Al 2,406,755
Tl 580,837
Colgditiel & A ESKE =i 3,281,900 3,281,900 0
= 1,640,950
Al 1,640,950
307 21201 A 3,281,900 3,281,900 0
= 1,640,950
Al 1,640,950
05 RIZt2IEt = 3,281,900 3,281,900 0
Ol dRtel At RIS 3,281,900, 000& 3,281,900
= 1,640,950
AlHI 1,640,950
ALIGIEE 29 241,940 241,940 0
AlHI 205,650
- Hl 36,290




A SXAS I
¥ Lol=x B
S Lodie &5 2 Hotgs N2 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 241,940 241,940 0
AlHI 205,650
T Hl 36,290
05 RIZHRI & 3 241,940 241,940 0
OAlLIoIZ2Y 2¢ 241,940,000& 241,940
Al 205,650
I 36,290
Z22% dietgd X 351,000 351,000 0
= 87,750
AlHI 175,500
L Hl 87,750
307 21201 A 351,000 351,000 0
= 87,750
AlHI 175,500
“Hl 87,750
TEEVEE: 351,000 351,000 0
OF=2Y S=EI| gl NS 312,000,000 312,000
2 78,000
AlHI 156,000
T Hl 78,000
OZ2% ot&I| d&dl X3 39,000, 000& 39,000
= 9,750
Al 19,500
I 9,750
J2g %3H XY 90,800 73,669 17,131
2 22,700
Alt] 45,400
L Hl 22,700
307 glz2+ol & 90,800 73,669 17,131
= 22,700
AlHI 45,400
4l 22,700
11T MISXASEX 90,800 73,669 17,131
ozzg 23 & 90,800,000 90,800
= 22,700
AlHI 45,400
T Hl 22,700
Iz2g 29 538,200 538,200 0
Al 280,800
-l 257,400
307 21201 A 538,200 538,200 0
Al 280,800
Tl 257,400
11T AL SXAEE =X 538,200 538,200 0
oZzz%g 29 & 538,200,000& 538,200
AlHI 280,800
L Hl 257,400




A SXAS I
dM: Lo=X &
Sl LolgXiel #E ¥ 0IIES X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
as=s 224 23 N2 59,400 57,600 1,800
307 gl2tol & 59,400 57,600 1,800
10 AL SXNAIEEE2EH EX 59,400 57,600 1,800
Onlss 2z¢ 22 A&
150,000& #3370 A 1200 & 59,400
Y=l gy 22|k X 38,510 35,784 2,726
Al 19,255
4l 19,255
307 21201 A 38,510 35,784 2,726
Al 19,255
el 19,255
11T AL SXALEE = 38,510 35,784 2,726
OZd2Y =3Z=208 22X vix
38,510,000 38,510
Al 19,255
- Hl 19,255
d2Y 2435 ALY 20,000 16,850 3,150
Al 20,000
307 21201 A 20,000 16,850 3,150
Al 20,000
11T A S XA E = 20,000 16,850 3,150
OZzz4 g4ds XA 20,000,000& 20,000
AlHI 20,000
F2g el 77,360 67,760 9,600
201 £B-2%H| 4,360 3,960 400
02 =224l 4,360 3,960 400
OQHYRa & PC B 3,960,000 3,960
OLEUSRXNE0tsdH A2AE AAEH
400,000& 400
301 LEEAS 23,000 13,800 9,200
01 MEIBEE 053 23,000 13,800 9,200
O¥ZE 324 ?A=2 50,0003 «2307H 2~ +23] 23,000
401 AIEHI L 20 40,000 40,000 0
01 A& Bl 40,000 40,000 0
OZzg E= 40,000,000& 40,000
405 XHoHF S HI 10,000 10,000 0
01 AL ESFH S 10,000 10,000 0
oz 23 N& 10,000, 000& 10,000
Lol 2 24,000 24,000 0
Al 19,200
I 4,800
307 glz2+0l & 24,000 24,000 0




A SXAS I
¥ Lol=x B
Sl LolgXiel #E ¥ 0IIES X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 19,200
L Hl 4,800
11T M SXASEX 24,000 24,000 0
Oons 23 XA 24,000,000 24,000
Al 19,200
- Hl 4,800
Lol HAMHIA K& 15,882 16,176 A 294
203 YR =& 2,034 2,592 A 558
03 Al =AY 2= 2,034 2,592 A 558
Oty g2=2 630,000& *90% 567
OMNBH-20tY BACSY AREX
630,000& *90% 567
OL=EXAE SAXR 2H&3l 500,000 «90% 450
O=2XNAMHlA dRFX 500,000& *90% 450
301 EEd = 13,848 13,584 264
01 Mel28HE 6= 12,000 12,000 0
ONMAS LN ALEEE
1,000,000& 122 12,000
0B A =R RAB A4S 1,848 1,584 264
OLolge d38x 1,848
S Al 7,000 12 #222 «12& 1,848
Lol AE 2R 2,219,958 1,989,893 230,065
= 1,033,426
Al 1,186,532
LZAE 23 716,562 497,579 218,983
= 459,926
Al 256,636
307 21201 A 716,562 497,579 218,983
= 459,926
Al 256,636
10 ALSISXAIEEE2IHEX 716,562 497,579 218,983
O2LZAE 22 657,042,000 657,042
= 459,926
AlHI 197,116
OL=ZAE 2L (AIBIFIXIRA)  59,520,000& 59,520
Al 59,520
L RAAE BALN EXN=E X 191,960 191,960 0
Al 191,960
307 glz2+ol & 191,960 191,960 0
AlH 191,960
10 ALSISEXAIEEE2GHEX 191,960 191,960 0
OLQAANE SAL SR+
191,960, 000 191,960
Al 191,960




A SXAS I
M Lol=x =X
Sl COIAAIM 2K (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
HAZSAH(EZAIE) 637,222 637,222 0
= 573,500
AlHI 63,722
301 LEd = 637,222 637,222 0
2 573,500
Al 63,722
01 Ml2ZHE 6= 637,222 637,222 0
OLQ=ERAIE AaX HASH
637,222,000 637,222
= 573,500
AlHI 63,722
LORAANE SSAN RFES X 133,026 236,144 A 103,118
AlH 133,026
301 LeEBAF 133,026 236,144 A 103,118
Al HI 133,026
01 MI2ZE 6= 133,026 236,144 A 103,118
OLNIIQUYLE SSAX 23
133,026,000 133,026
AlHI 133,026
MOt =SXAIE 298 X2 541,188 426,988 114,200
Al HI 541,188
307 21201 A 541,188 426,988 114,200
Al HI 541,188
10 M2 SXNANEHES2IHEX 541,188 426,988 114,200
OMI=QA=RAE (4HL) 2 X2
541,188,000& 541,188
Al 541,188
LosX2 28 & teteelg X 1,270,820 1,270,820 0
Al Hl 882,220
I 388,600
MOHAIEEIH - SX& 293 495,480 495,480 0
Al HI 353,280
I 142,200
307 21201 A 495,480 495,480 0
Al HI 353,280
I 142,200
05 RIZt2IEt = 495,480 495,480 0
OAGtAIZE ol =X2 29 495,480,000 495,480
AlHI 353,280
- Hl 142,200
MEHAEH ISR 2 22 495,480 495,480 0
Al 353,280
- Hl 142,200
307 21201 A 495,480 495,480 0
Al 353,280




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

-t 142,200

05 RIZt &= 495,480 495,480 0
OdEEAEMN =SR2 2F 495,480,000 495,480
Al 353,280
Tl 142,200

ABARH =X 29 230,560 230,560 0
Al 163,660
I 66,900

307 21201 A 230,560 230,560 0
Al 163,660
I 66,900

05 RIZt2IEt = 230,560 230,560 0
OuEAMEH=X2 2Z 230,560, 000& 230,560
AlHI 163,660
T Hl 66,900

HEte0lsl BUSSAY X 49,300 49,300 0
AlHI 12,000
T Hl 37,300

307 glz2tol & 49,300 49,300 0
AlHI 12,000
T Hl 37,300

02 IZHE M AHE L 14,300 14,300 0
OL=XEsd &3 XN 10,000, 000& 10,000
OLn=sd WEHl XL 4,300,000& 4,300

03 BIAHNHE2IHIEL 35,000 35,000 0
Ofst-elsl 248l XA 35,000, 000& 35,000
Al 12,000
1 Hl 23,000

ZOH=X XA 19,453,773 19,044,660 409,113
= 10,934,564
AlHI 8,412,381
1 Hl 106,828

Q=N S 16,655,281 16,681,493 ~26,212
=2 10,874,614
AlHI 5,718,839
L Hl 61,828

FoelAs 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066

301 LEAZ 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066

01 MEIBEZE+06l= 6,136,886 6,136,886 0
OFelAZz 6, 136,886,000 6,136,886
= 4,295,820
Al 1,841,066




2N
D EOMHSX X

el

X ZH
S =

=S XA Bt

Fope=sx sa

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Zo=g(0l=x) 1,140,000 1,140,000 0
= 798,000
AlHI 342,000
301 getEd 3 1,140,000 1,140,000 0
= 798,000
Al 342,000
01 A3l EE E 56l = 1,140,000 1,140,000 0
OFM=Z (=) 1,140,000, 000& 1,140,000
= 798,000
Al HI 342,000
Zo=g(MHARAS) 502,100 502,100 0
= 351,470
AlHI 150,630
301 LBEAZ 502,100 502,100 0
= 351,470
AlHI 150,630
01 MEIBEE 2053 502,100 502,100 0
QXM= (X&) 502,100,000& 502,100
= 351,470
AlHI 150,630
ZOHQITHE =S R 380,000 380,000 0
Al 380,000
301 LEAF 380,000 380,000 0
AlHI 380,000
01 Al EE X =56l = 380,000 380,000 0
OZoe Mg 380,000, 000& 380,000
AlHI 380,000
Foetd s4 2 2xs NE3 N2 30,000 30,000 0
301 EEMZ 30,000 30,000 0
01 A3l EE E 56l = 30,000 30,000 0
OZOMLAIE s4& & 25 X3 N
30,000,000& 30,000
HeZoHel s4HE K& 6,000 6,000 0
= 4,200
Al 1,800
301 LBEAF 6,000 6,000 0
= 4,200
Al 1,800
01 Al EE H 06l = 6,000 6,000 0
OWLZ SAHEXJ ALY
1,000, 000& 62X 6,000
= 4,200
AlHI 1,800
ool ozHl XN 207,995 207,995 0
= 166,396




SM: =XAD
M mojoI=N X
Sl FOfOISK B

= - - SHE]|
SN FHE - B(BA) - MRAY - BHES Ol &t o4 e
Al'H] 41,599
308 AXIEH S0 A 207,995 207,995
= 166,396
AlHI 41,599
11 SISO CHE B A X 2 E AL HI 207,995 207,995
O&oel o=l XA 207,995,000& 207,995
= 166,396
Al 41,599
HASHOHO ey L AAH X 10,000 10,000
= 5,000
Al HI 5,000
301 LPEAF 10,000 10,000
= 5,000
AlHI 5,000
01 A EE E 2563 10,000 10,000
OMASEOQ XEdl L 2 At X &
10,000,000& 10,000
= 5,000
Al HI 5,000
OB EIIDN(MHEBEZDZ?) WL 12,930 12,930
= 10,344
I 2,586
301 LPENF 12,930 12,930
= 10,344
- Hl 2,586
01 AL EE E 563 12,930 12,930
OZEOMAEBEININ(MEEZIIR) L
12,930, 000& 12,930
= 10,344
2l 2,586
Zojol urE AT XA (HLH) 518,644 518,644
2 259,322
Al HI 259,322
301 LEEAZ 518,644 518,644
= 259,322
AlHI 259,322
01 Al EE E 563 518,644 518,644
OFoHel dutsddRiel XA (ML)
518,644,000 518,644
= 259,322
Al HI 259,322
Tojol YPE AT 2l KR (AZHA) 67,074 67,074
= 33,537
AlHI 33,537
301 LBEXZ 67,074 67,074
= 33,537




SN SRAY D
M Ho =X X
& Hoe=Ex 58 (&
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 33,537
01 MEIBZE 06z 67,074 67,074 0
OFojol YurgUxtal X (A2HH)
67,074,000 67,074
= 33,537
AlHI 33,537
O XL iel XA 238,680 238,680 0
2 119,340
AlHI 119,340
301 LEAZ 238,680 238,680 0
2 119,340
AlHI 119,340
01 MEI2EZE 06z 238,680 238,680 0
OZOMe sXELRel XH 238,680,000& 238,680
2 119,340
Al 119,340
ool asx 2 (82H) 5,520,000 5,520,000 0
= 3,864,000
AlH 1,656,000
308 XtXIEHHSOIA 5,520,000 5,520,000 0
= 3,864,000
Al 1,656,000
1 3I2SOHetE & X 2 E AL I 5,520,000 5,520,000
QXM asXA(HH) 5,520,000, 000& 5,520,000
= 3,864,000
AlHI 1,656,000
ZOHOIZ S IR (AlH) 403,218 403,218
AlH 403,218
308 XtXI &M S0 & 403,218 403,218
Al 403,218
1132 SoHUHeSBHEAE ALS HI 403,218 403,218
OXOoHeI & =R (AlHI) 403,218,000 403,218
Al 403,218
EsSEXIEN 5,370 5,370
= 3,759
AlHI 1,611
308 XXM SO0 A 5,370 5,370
= 3,759
AlHI 1,611
3 2S00HetE & X2 E A I 5,370 5,370
OgsEXId=20 5,370,000 5,370
= 3,759
Al 1,611
LETHEAMEIA X 1,189,878 1,189,878
= 832,915
Al 356,963
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D EOMHSX X

el

X ZH
S =

=S XA Bt

Fope=sx sa

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 1,189,878 1,189,878 0
= 832,915
Al HI 356,963
112/ 2SUHUSHEAEAE A Y| 1,189,878 1,189,878 0
OggdMEAH A AH 1,189,878,000& 1,189,878
= 832,915
Al HI 356,963
HAHYEE HIH XA 2,193 2,193 0
=2 1,535
Al HI 658
308 XHXIGHH SO0l & 2,193 2,193 0
= 1,535
Al H] 658
11 BI2SHUSE AN E AISH 2,193 2,193 0
OdHEL XA 2,193,000 2,193
2 1,535
Al HI 658
SO E2AEIH 4,000 4,000 0]
= 2,800
Al HI 1,200
308 AMXISHMSOIA 4,000 4,000 0
= 2,800
Al HI 1,200
11 BI2SUHUSHEAEAE AT Y| 4,000 4,000 0
Ogg el 22 Alejad XI& 4,000,000 4,000
= 2,800
Al H] 1,200
SIS HHO F2HESHEUAXA 101,643 101,643 0
= 71,150
Al HI 30,493
308 XHXIEHSOIA 101,643 101,643 0
= 71,150
Al HI 30,493
1122 S0 USHE A EAE AT Y| 101,643 101,643 0
Ol F2AESAHH A K&
101,643,000 101,643
= 71,150
Al HI 30,493
SEEXO ol F2AESHHIA AIBIZFIIAR AFS 40,820 40,820 0
Al HI 40,820
308 XHXIEH SOl A 40,820 40,820 0
Al HI 40,820
112 2SUHUSHEAEAE A Y| 40,820 40,820 0
Ol F2HES AU A AHIFIAE
40,820,000 40,820
Al HI 40,820




S XA
D HM=sX K
D EMYSsX s

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A s ghSEsAHHA X 78,608 78,608 0
= 55,026
AlHI 23,582
308 AHAIEHHSOIA 78,608 78,608 0
= 55,026
Al 23,582
1132 SoHUHSBHEAEALS I 78,608 78,608 0
OFad 22Fistd dU=2SAHMHA X
78,608,000 78,608
= 55,026
AlHI 23,582
FHAHES 2= 19,242 5,044 14,198
201 Let249] 18,675 4,477 14,198
01 At 22/l 2,900 4,477 A1,577
OZOHQ Xt IAHSRF HLHA T H=
15,000& 205 300
OFHe NsSIEX M= 1,000& *2,0000H 2,000
OFAHML 3t 100,000& 43| 400
OAZZoHel HEIAEIA ME 800& «250H 200
02 3322l 15,775 0 15,775
oz 14,875,000& 14,875
Ods:2d7 s8I =A== 900,000& 900
203 YR =&l 567 567 0
03 AIMF=XH R =AY 567 567 0
OFOHUEH X AIESAX 23
630,000& *90% 567
F=XsE s 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 IZtEHAHE L 10,000 10,000 0
OFMe=Xs2 &sX& 10,000, 000& 10,000
ZOHQ =22 AAESA 2SN 30,000 30,000 0
AlHI 30,000
307 glz2tol & 30,000 30,000 0
AlHI 30,000
05 RIZHRI & 3 30,000 30,000 0
OFZOMQ =22t AESA 2HIE
30,000,000& 30,000
AlHI 30,000
ZO=XAE X3 2,798,492 2,363,167 435,325
= 59,950
AlHI 2,693,542
T Hl 45,000
Fope=X2 2K 997,666 997,666 0
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X ZH -
L= B

el

=S XA Bt
o =X X
FUA=TAIE X

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al'H] 967,666
I 30,000
307 glz2tol & 997,666 997,666 0
AlHI 967,666
T Hl 30,000
04 DI2HHALALSE E X 30,000 0 30,000
OXel HUSA 23=H XA
30,000,000& 30,000
05 RIZHRIEt 3 967,666 997,666 A 30,000
O&el=xa 2 X 967,666,000 967,666
Al 967,666
ZFoHo=ER2 228 29X 42,100 42,100 0
AlHl 42,100
307 21201 A 42,100 42,100 0
Al HI 42,100
05 RIZt2IEt = 42,100 42,100 0
OAtot= ZoHe=2X2 == 2N
42,100,000& 42,100
Al HI 42,100
Zoel F2AEBSAE 2SN 858,074 428,749 429,325
Al HI 858,074
307 21201 A 858,074 428,749 429,325
AlHI 858,074
10 ALSISEXAIEEE2EHEX 858,074 428,749 429,325
O&ZOel =2t ESAE 2IXNA
858,074,000& 858,074
Al HI 858,074
ZOoeIXIggo 22 A 2H X2 37,563 31,563 6,000
AlHI 22,563
el 15,000
307 2Iz2t0l A 37,563 31,563 6,000
AlHI 22,563
I 15,000
10 M SXNANEHE2IHE=x 37,563 31,563 6,000
OFHQAITI G 22XE 2YX &
37,563, 000& 37,563
AlHI 22,563
I 15,000
ZOHQMATHEANE (B EHE) 29X H 208,077 208,077 0
AlHI 208,077
307 glz2tol & 208,077 208,077 0
AlHI 208,077
10 M SXNANEHI2IHE=S 208,077 208,077 0
OZMHAXNITHEBANLE(ESHAE) 2N
208,077,000& 208,077




2N

=S XA Bt

M ZojoI=R K&
S HO=XAIE XA (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
| Al'H] 208,077
OIS SMEIIE 2GXA 381,625 381,625 0
Al H] 381,625
307 QI2t0| ™ 381,625 381,625 0
AlH] 381,625
10 AR SXAIEEE2IHIEX 381,625 381,625 0
OIS HEINE 2F X3 381,625,000 381,625
Al HI 381,625
SSHOHC MM 29X 149,875 149,875 0
= 59,950
Al H] 89,925
307 QI2t01 ™ 149,875 149,875 0
= 59,950
Al H] 89,925
10 Al SEXAIEEE2IHIEX 149,875 149,875 0
OZZZMHO NHPMEZHEH SN
149,875,000& 149,875
= 59,950
Al HI 89,925
ST HEgMeHEs 29N 18,000 18,000 0
Al HI 18,000
307 QI2t0| & 18,000 18,000 0
Al H] 18,000
10 AR SXAIEEE2IHIEX 18,000 18,000 0
O NFMEHEE 2HAA
18,000,000 18,000
Al H] 18,000
NS MEME AN JEHEEHZ AE 14,000 14,000 0
Al H] 14,000
301 et ™M= 14,000 14,000 0
Al H] 14,000
01 MBI BEAESG2 14,000 14,000 0
ONPMBHE HAZ0H YIRS X2
14,000,000& 14,000
Al H] 14,000
HHQUSEINI22IME SYN 91,512 91,512 0
Al H] 91,512
307 ©12+0I & 91,512 91,512 0
AlH] 91,512
05 QIZtR E 2 91,512 91,512 0
OZMHABXD| DIl yH 29 91,512,000& 91,512
Al HI 91,512
HAEXNA & BS 1,509,289 1,339, 140 170, 149
= 543,665
Jl 11,340




N SXAE D

Hu: HAUNY U 25

=

ool Mol =XNEA (el:de)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Al'H] 382,333
L Hl 571,951
dad =XNEH 1,509,289 1,339, 140 170,149
= 543,665
J| 11,340
AlHI 382,333
T Hl 571,951
Aot EAYE E23to & 23 232,158 193,245 38,913
307 glz2tol & 212,158 193,245 18,913
05 RIZHRIE 3 212,158 193,245 18,913
OAM3dt 2449 232 ¥ 2F  212,158,000& 212,158
402 RIZEX20l A 20,000 0 20,000
03 212t &AL S HI 20,000 0 20,000
OFAEEsE Jls22l 20,000,000& 20,000
FadE LS 03t00 2K 160,702 160,702 0
= 80,351
Al HI 64,281
-l 16,070
307 21201 A 160,702 160,702 0
= 80,351
AlHI 64,281
I 16,070
05 BIZERIE 3 160,702 160,702 0
O&dA4d &= Oot3tdi0l 29 160,702,000 160,702
= 80,351
AlHI 64,281
L Hl 16,070
FAaE SNSO0IH00 SAX XI& 5,880 0 5,880
AlHI 5,880
307 glz2tol & 5,880 0 5,880
AlHI 5,880
05 RIZHRI & 3 5,880 0 5,880
OFAY ZUS03HMI0l SAX XI&
5,880,000 5,880
AlHI 5,880
HAEXNEA B XX & 23,520 22,320 1,200
= 11,760
AlHI 11,760
307 gl2tol & 23,520 22,320 1,200
= 11,760
AlHI 11,760
05 RIZHRIE 3 23,520 22,320 1,200
OFAEXI S A BIEXIXI& 23,520,000& 23,520
= 11,760
Al HI 11,760




N SXAE D

Hu: HAUNY U 25

& HAY %Ilgﬂ (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
FAaE AL 2EAF 2SN 2,000 0 2,000
= 1,000
AlHI 1,000
307 gl2tol & 2,000 0 2,000
= 1,000
Al 1,000
05 BIZHRI & 3 2,000 0 2,000
OFAY =AY 2243 29X&
2,000,000& 2,000
= 1,000
AlHI 1,000
FAE=SE0Y 29 20,500 20,500 0
= 8,200
Al 6,150
-4l 6,150
307 gl2tol & 20,500 20,200 300
= 8,200
Al 6,150
-4l 6,150
11 ALS S XAEE = 20,500 20,200 300
o208 0Ye 28 XA 20,500,000& 20,500
= 8,200
AlHI 6,150
I 6,150
HdAaES02 A& 23,870 23,870 0
= 9,550
AlHI 7,160
-l 7,160
307 glz2+ol & 23,870 23,870 0
= 9,550
AlHI 7,160
T Hl 7,160
11T AISI S XA E X 23,870 23,870 0
O&EAES0tel X3 23,870,000 23,870
= 9,550
AlHI 7,160
- Hl 7,160
FLHENHAR}S 29 XN 2,800 2,800 0
= 1,400
Tl 1,400
307 21201 A 2,800 2,800 0
= 1,400
I 1,400
05 BIZERI & 3 2,800 2,800 0
OFAEENWRAAS 29 XA 2,800,000& 2,800
= 1,400
I 1,400




N SXAE D

Hu: HAUNY U 25

=

ol H3ad SXNSA (&)
SA - BB B () - MM - BES Ol &t o San HmEET
HeZAYE BHAMEE N & 130,752 111,980 18,772

= 65,376
AlHI 32,688
- Hl 32,688
308 AHXIEHHSOIA 130,752 111,980 18,772
= 65,376
AlHI 32,688
- Hl 32,688
1137/ 2SoHUHSZHEAEALS I 130,752 111,980 18,772
O&EEAY BARAMES XA
130,752,000& 130,752
= 65,376
AlHI 32,688
T Hl 32,688
A SEXE A 16,200 10,000 6,200
J| 11,340
AlH 4,860
301 LEd = 16,200 9,800 6,400
J| 11,340
Al 4,860
01 Ml2ZE 6= 16,200 9,800 6,400
O&EAaYd EE8XA 16,200,000 16,200
J| 11,340
AlHI 4,860
FAEHeHHA HdE ALY 100,000 100,000 0
= 50,000
AlHI 25,000
L Hl 25,000
101 @124 dl 6,600 0 6,600
= 3,300
AlHI 1,650
T Hl 1,650
4 D12t ZE2XREES 6,600 0 6,600
ODRINIELYE Atdl2el X& 6,600,000 6,600
= 3,300
AlHI 1,650
T Hl 1,650
201 Let24d] 56,000 91,000 A35,000
= 28,000
Al 14,000
Tl 14,000
01 At 22l 26,000 88,000 A 62,000
OFAHAMY AEAY T2 S
26,000,000 26,000
= 13,000
AlH 6,500
- Hl 6,500




S XA
CEAERNE R ES

D EAYE ENSd

SN HH-S(BN) - MBAY - B il HlnE2
03 A2 Z Hl 30,000 3,000 27,000
Osti=s oy =20 20,000,000& 20,000
= 10,000
Al 5,000
I 5,000
ORAJI¥a~E M T2 10,000, 000& 10,000
= 5,000
AlHI 2,500
I 2,500
203 H R =&l 2,400 2,400 0
= 1,200
AlHI 600
T Hl 600
03 Al =X A2 =& 2,400 2,400 0
OFAEEY HRFAHY| 2,400,000& 2,400
= 1,200
AlHI 600
Tl 600
301 LPENF 35,000 6,600 28,400
= 17,500
AlHI 8,750
I 8,750
01 MEIBE X253 35,000 0 35,000
O%&E MHlA HA 30,000,000& 30,000
= 15,000
AlHI 7,500
T Hl 7,500
OAJI¥a~E 23K 5,000,000& 5,000
= 2,500
Al 1,250
I 1,250
FAUEMY HAGAH 2l AL 67,132 59,320 7,812
= 30,324
Al HI 18,404
I 18,404
101 14 dl 67,132 58,224 8,908
= 30,324
Al HI 18,404
-l 18,404
M4 JI2ZHZEXNSES 67,132 58,224 8,908
OFAG A 22l A 21298](29) 60,648,000 60,648
= 30,324
AlHI 15,162
T Hl 15,162
OFAGAAZEAI D222 XA
6,484,000 6,484
AlHI 3,242
-4l 3,242




2N
X ZH -
L= B

el

= X AbE! Bt
HAUXE L 25

EPNERE D E=F

SA - BB B () - MM - BES Ol &t o San HmEET
FAagEerdd DNJ|IFAYE FEHLZ Y 50,000 50,000 0
= 25,000
AlHI 12,500
- Hl 12,500
307 gl2tol & 50,000 50,000 0
= 25,000
AlHI 12,500
- Hl 12,500
05 RIZHRIEF 3 50,000 50,000 0
OFAHHMY NRINFAE ISFZ2IH
50,000,000 50,000
= 25,000
AlHI 12,500
T Hl 12,500
HAGO MY 2H(HAEMGERNEH) 98,650 96,800 1,850
= 49,325
AlH 24,663
- Hl 24,662
307 gl2tol & 98,650 96,800 1,850
= 49,325
Al 24,663
T Hl 24,662
05 BIZHRIE 3 98,650 96,800 1,850
OFadetdy 299 98,650,000& 98,650
= 49,325
Al HI 24,663
I 24,662
HAHOIMY YA AD(HAEHASSTHH) 163,340 154,680 8,660
AlHI 81,670
“Hl 81,670
307 glz2+ol & 163,340 154,680 8,660
AlHI 81,670
1 Hl 81,670
05 Rzt E = 163,340 154,680 8,660
OFEAGEeE Y X2 & EHA 163,340, 000& 163,340
AlHI 81,670
T Hl 81,670
HAESEH ME(HaE4ESREH) 189,864 167,420 22,444
= 83,760
Al 53,052
Tl 53,052
307 21201 A 189,864 167,420 22,444
= 83,760
Al HI 53,052
-l 53,052
05 BIZERI & 3 189,864 167,420 22,444
OFAESER AtY 167,520, 000& 167,520




N SXAE D

Hu: HAUNY U 25

=

ol H3ad SXNSA (=& J)
x 5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 83,760
AlHI 41,880
Tl 41,880
OFAEUSER JI22E3 XF 22,344,000 22,344
Al HI 11,172
Tl 11,172
st & HAdE X 172,580 127,494 45,086
= 117,236
AlHI 25,122
I 30,222
307 21201 A 172,580 127,494 45,086
= 117,236
AlHI 25,122
2 Hl 30,222
05 RIZt2IEt = 172,580 127,494 45,086
Osgtw & 44 X& 167,480, 000& 167,480
= 117,236
AlHI 25,122
T Hl 25,122
Osgtw & A4 XNJHH 2222H s N
5,100,000& 5,100
st 8 ¥Aa4dE Adl X 23,717 23,585 132
= 10,383
Al 8,143
- Hl 5,191
307 gl2tol & 23,717 23,585 132
= 10,383
Al 8,143
- Hl 5,191
05 BIZHRI & 3 23,717 23,585 132
Ostu 9 HA4A4E ZAH N 20,766,000 20,766
= 10,383
AlHI 5,192
2 HI 5,191
Ostl % HAE 3AH =0t N8
2,951,000& 2,951
Al HI 2,951
dadE B35 14,424 14,424 0
201 L2l 11,853 11,853 0
01 At 22l 10,523 10,523 0
Od4Esol =otg A HMZE 900 *3,5002 «90% 2,835
Oo2g3da~d 5 HEHE M 14,300& 20 286
OFLAHENWRARNS A2 ASHE WA
10,000& 20H 200
OFAUE &3 5,400,000& 5,400
OFAGUXNERE A=Z ME 10,0003 +50H 500
OFAGUXNEREA |FZE M= 10,000 50 500
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